1. Structural learning (B algorithm)

The calculation of the MPE (or MPS in the EDA context) is intractable in certain
generationswhen EBNA uses the population size given by bisection.

1.1. Population size: half of bisection

1.1.1. 30 successful runs
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2. Using Complete structure

2.1. Popul

ation size: bisection

2.1.1. 33successful runs
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2.2. Population size: half of bisection
2.2.1. 27 successful runs
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3. UsingBivariate structure

3.1. Population size: bisection

3.1.1. 10successful runs
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3.2. Population size: half of bisection

3.2.1. 8successful runs
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